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60 KET=TH 1 217
70 RET=TH 0 356
80 ¥ATIEHET 0 38
90 FEHNIT AT 1 210
100 dt D ALET 0 144
110 T HT 0 1348
120 ¥A;TAHT 0 207
130 ¥ FHT 0 399
140 EAERT 0 7
150 & FFrHET 0 363
9999 KGR X &t 4 4281
510 AETIHT B 1 444
520 HEEEHT 0 160
530 /\T&EHET 0 251
540 15 = HT 0 466
550 $TithET 0 375
560 =ZEMT 0 69
570 EEHT 0 78
580 ¥TEAHET 0 125
590 #;EHT 0 61
600 ZERET 0 727
610 FHT 0 159
620 FAET—TH 0 0
9999 /\ X5t 1 2915
1010 3 A HT 1 218
1020 £ FHT 0 362
1030 o FrHET 1 319
1040 74 FrHT 0 570
1050 & FHHET 0 662
1060 F _EHT 2 545
1070 #y[R=HET 0 680
1080 &= FHHET 0 451
1090 BHiEHT 0 717
1100 L HiEHRT 0 584
1110 {2 1EHT 0 168
1120 $21E JTHT 1 80
1130 +4&HT 0 31
1140 FxJRHET 0 16
1150 F/RET—T B 1 219
1160 F/RETZT B 0 259
1170 ;& 7KHET 1 189
1180 EE&FLHET 1 255
1190 #&FAHT 0 200
1200 XFHET—TH 1 142
1210 XFHEIZTH 0 187
1220 $HET 0 154
1230 %KHET 0 174
1240 B EHT 0 122
1250 fEEHET 0 141
1260 B @ 0 47
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1270 EEHT 0 11
1280 ARAEHT 0 166
1290 $RHET 3 186
1300 & ZEHT 1 139
1310 RILGHT 0 92
9999 KM XET 13 8186
1510 AEHN_E BT 1 847
1520 HEHTHET 0 761
1530 &4 FTHT 0 351
1540 K{g3HT 0 598
9999 HEMNE X &t 1 2557
2010 Z & ERHET 0 214
2020 %= EFGHET 0 308
2030 AT 1 26
2040 ;MET—T H 1 236
2050 MBET—TH 0 235
2060 #5fFET 0 49
2070 FxBT—TH 0 279
2080 +RETZTH 0 222
2090 THIKHET 1 1970
2100 hiLHT 0 277
2110 KEMIETET—T B 0 252
2120 HEWIEET—TH 0 294
9999 ZERXET 3 4362
2510 ¥AZHET 1 2365
2520 sk EEMT 1 1433
2530 =/MEHET 0 407
2540 FHi5HT 1 474
2550 ;HHET 0 262
2560 = SHT 5 1073
2570 K EHT 0 96
9999 MERXET 8 6110
3010 X#FHT 0 1056
3020 ;ELiTHT 0 1058
3030 _EEFHT 1 890
3040 & _LET 1 153
3050 THES AT 1 2116
3060 S BN THT 0 523
3070 THESEHRT 0 551
3080 HHHHET 0 479
3090 HHEHT 0 455
3100 HHFHHET 0 517
3110 EHeILHT 1 499
9999 /\ FER X &t 4 8297
3510 £/F LHT 0 227
3520 2R HHT 1 394
3530 2R THT 1 1098
3540 Z= B KHT 1 432
3550 A EFHT 0 869
3560 &= T ERAT 0 326
3570 & T AT 2 846
3580 F|LIFrHT 0 546
3590 EMT 0 12
9999 S HKXET 5 4750
4010 BJIIQET 0 359



XH24. 7 F REREBIREZD —ERIEIZKYSNEANEZESHT-AO
(H29.1.31IRE)ITEET 4 (K=F) Bl & A A 0 (&)

THRET(KF)a—F {TERET (K=F)4% 100LlE AOFt

4020 {ESHT 0 99
4030 15HET 0 276
4040 = HEAHT 0 268
4050 7K EHT 0 536
4060 BS54 HHAT 1 405
4070 JtJRHET 0 206
4080 =;I;HAMT 0 246
4090 FRERHT 0 343
4100 B FEFNHET 0 154
4110 Jt FFET 0 194
9999 &I XET 1 3086
4510 AREE—ZHT 1 805
4520 EREE — ZEHT 0 221
4530 EREE=ZEHT 0 185
4540 EBEEIYFEMET 0 158
4550 AREEFH ZEHT 0 110
4560 AR EENEEHET 0 84
4570 EREE-HFHET 0 173
4580 EREE)\ZHET 0 100
4590 EBEE N FEHT 0 153
4600 EREE-+ZEHET 0 178
4610 EREE+—ZFHET 0 261
4620 EREE+ —ZEHT 0 372
9999 ERERXET 1 2800
5010 FAFNHE HEHT 0 240
5020 BB F0BAELET 0 220
5030 RRF0MR]{—ET 0 265
9999 MAFIRXET 0 725
5510 b RHET 2 253
5520 = HhHET 2 692
5530 FA= HT 1 540
5540 MY 0 291
5550 EEHT 0 73
9999 =R X5t 5 1849
6010 [E]ET/]MER 1 116
6020 [z ET 5 0 130
6030 [EET &I 0 109
6040 ERZEIFHT 1 239
6050 JI|ABTE 1 175
6060 JI|EHATFE 1 144
9999 REERXET 4 913
6510 B &= A#HBHET 0 25
6520 HZEAKIEHET 0 222
6530 HE AFTHHET 0 108
6540 HZEAILTHT 0 204
6550 B =AM Z NET 0 117
6560 HZEAEILET 3 160
6570 B E ALERIHET 1 183
6580 HZEAKHET 0 101
6590 HZE AKHET 0 67
6600 B &= AHHT 0 104
6610 HEA L FGHT 0 54
6620 HZEAF T 0 56
6630 HZEA T FMAT 0 96
6640 B &= A EitslT 1 39
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6650 B ZASHET 0 2
6660 HZ A RLHET 0 35
9999 HEARKKET 5 1573
7010 — &M O ET 0 192
7020 — R A<HT 0 274
7030 = R IRHNET 1 124
7040 — BT KEFHT 1 256
7050 — R 7 H U5 ET 0 130
9999 — R&XEt 2 976
8011 SRAETFGHERLY 0 83
8012 IR AHTFHERA 0 158
8013 R AHTFEER (& 0 93
8021 IRAHTIZEKLY 1 96
8022 YR AHETIEKA 0 9
8023 IR AHTIEKIL 0 12
8031 YRAHETH ALY 1 205
8032 IRAHTHAA 0 14
8033 FAETH AL 0 18
8041 JRAHTELIZL 0 74
8042 YR AHBETELIFA 1 38
8043 IR AHTELIR L 0 22
8044 YR AHETHELIFIZ 0 35
8045 IR AHTELIR (X 0 56
8050 IRARTIR A 0 205
8060 IR AHTFT 1 165
8070 FAHTENR 1 158
8080 Ik AHT &k 0 66
8090 I AHT i E 0 50
8100 JABIH /1% 0 27
8110 IRAHTJII 5= 0 7
8120 R ARHETERER 1 106
8130 JRAHTH L 0 99
8140 IRABTEFRKT 0 157
8150 AR EHFXRL 0 104
9999 IRAK X ET 6 2117
9010 FTHTKZH 3 669
9020 FTHTEER 1 409
9030 FTHT#HZEH 2 1237
9040 FTHTHEH 1 1490
9999 FT#XEt 7 3805
9110 SERT T H L 1 604
9120 $RATH L 0 283
9130 RETH B 0 158
9140 SFEET T4 1 482
9150 $RHT L§5 0 543
9160 SEHATEEHT 2 799
9170 $ERTANH 1 1033
9180 #RHTEE 0 704
9190 $EET:Z 0O 0 265
9200 $EHTFFIF 0 251
9210 $EET=H 0 424
9220 $RMTHEH 4 688
9230 ST B M 1 739
9240 SEETIE K 0 314
9250 FEETILHTih 0 703
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9999 R &t 10 7990
9310 HZHTAR 1 252
9320 F[ZHATIL 0 281
9330 R[ZHET/INE 1 176
9340 R [ZHTRY 1 451
9999 HEHXET 3 1160
9410 RET T & 2 444
9420 RHETHHE 0 251
9430 RETEXR 0 171
9440 RETAEF 0 13
9450 RETHEIR 0 23
9460 RET{—_HE 0 31
9470 RETZER 0 7
9480 RHETHER 0 68
9999 RKX:Et 2 1008
99999 TH&Et 85 69460



